

Now a simple calculation shows that $UT_{(w,\omega)}$ is the function $S_{(w,\omega)}$ defined by (2), hence in view of the fact that U is unitary, (17) yields

$$F(w, \omega) = \langle F | S_{(w,\omega)} \rangle_{H^2}.$$

But this is equation (3) in assertion (iv) of the theorem whose proof is now complete.

References

- V. Bargmann, On a Hilbert space of analytic functions and an associated integral transform, I, Comm. Pure Appl. Math. 14 (1961), pp. 187-214.
- [2] S. Bochner, Group invariance of Cauchy's formula in several variables, Ann. of Math. 45 (1944), pp. 686-707.
- [3] J. Dixmier, Les algèbres d'opérateurs dan l'espace Hilbertien, 2nd ed., Gauthier-Villars, Paris 1969.
- [4] S. G. Gindikin, Analysis in homogeneous domains, Uspekhi Mat. Nauk 19 (1964), pp. 3-92 (in Russian).
- [5] A. Korányi, Holomorphic and harmonic functions on bounded symmetric domains, (C.I.M.E., Summer course on bounded homogeneous domains) Cremonese. Roma 1968.
- [6] The Poisson integral for generalized half-planes and bounded symmetric domains, Ann. of Math. 82 (1965), pp. 332-350.
- [7] A. Korányi and E. M. Stein, H² spaces of generalized half-planes, Studia Math. 44 (1972), pp. 3793-88.
- [8] S. Murakami, On automorphisms of Siegel domains, Lectures Notes in Mathematics 286, Springer, Berlin 1972.
- [9] R. D. Ogden and S. Vági, Harmonic analysis of a nilpotent group and function theory on Siegel domains, to appear.
- [10] E. M. Stein, Note on the boundary values of holomorphic functions, Ann. of Math. 82 (1965), pp. 351-353.
- [11] E. M. Stein and G. Weiss, Introduction to Fourier analysis in Euclidean spaces, Princeton University Press, Princeton 1971.
- [12] H. D. Ursell, Some methods of proving measurability. Fund. Math. 32 (1939), pp. 311-330.

Received August 20, 1975
Revised version April 29, 1976 (1059)



On an integral representation of antisymmetric operations in Hilbert spaces

I. Bounded operations

by

STANISŁAW GÓŹDŹ (Lublin)

Abstract. In this note we give the representation of the bounded and antysymmetric operation A defined and valued in the Hilbert space H (real or complex) in the following form:

$$Ax = \int_{a}^{\beta} \lambda dQ_{\lambda}x,$$

where $Q \in I(H) = \{Q \in L(H): Q^3 = -Q \text{ and } Q^* = -Q\}.$

Moreover, we give the properties of the operation of the class I(H) and some form of the solution of the equation

$$\frac{d}{dt}x(t) = Ax(t)$$
, where A is antisymmetric

with the initial condition $x(0) = x_0$.

1. Introduction. In this paper we give the spectral representation of bounded antisymmetric operations in Hilbert spaces; the case of unbounded operations will be presented in the next paper.

In our theory we formally give an effective solution of the equation

$$\frac{d}{dt}x(t) = Ax(t)$$

with the antisymmetric and bounded operation A.

2. Class of operations I(H)**.** Let H denote a Hilbert space and let L(H) denote a linear space of all linear and bounded operations in H. The class of operations I(H) is defined as follows:

(2)
$$Q \in I(H) \equiv Q \in L(H)$$
 and $Q^3 = -Q = Q^*$,

where Q^* denotes the conjugate operation with Q.

29

We shall see later that the class I(H) is non-empty and non-trivial; now we give a simple

Example 1.2. Let H denote the three-dimensional real Euclidean space. It is easy to see that the operation Q given by the matrix

(3)
$$Q = \begin{bmatrix} 0 & a & b \\ -a & 0 & c \\ -b & -c & 0 \end{bmatrix}, \text{ where } a^2 + b^2 + c^2 = 1,$$

belongs to I(H).

Every operation $Q \in I(H)$ has the following properties:

THEOREM 1.2. If $Q \in I(H)$, then:

- (i) $-Q^2$ is a projection, i.e. $(-Q^2)^2 = -Q^2$ and $(-Q^2)^* = -Q^2$.
- (ii) $||Qx|| = ||Q^2x||$.
- (iii) ||Q|| = 1.
- (iv) $Q(H) = \overline{Q(H)}$, where $Q(H) = \{Qx : x \in H\}$ and $\overline{Q(H)}$ denotes a closure of Q(H).

Proof. (i) and (ii) are obvious.

From (i) and (ii) we have

$$||Q|| = \sup\{||Qx||: ||x|| \le 1\} = \sup\{||-Q^2x||: ||x|| \le 1\} = 1,$$

which completes the proof of (iii).

It is enough to show that if $x \in \overline{Q(H)}$, then $x \in Q(H)$. In fact, let $x \in Q(H)$. Then there exists a sequence $z_n \in H$ such that $Qz_n \to x$. Since $-Q^2(Qz_n)$ $= -Q^3 z_n = Q z_n$, so $x = -Q^2 x \in Q(H)$.

THEOREM 2.2. Let $Q_1, Q_2 \in I(H)$ and $Q_1Q_2 = Q_2Q_1$; then $Q_1 + Q_2 \in I(H)$ if and only if Q,Q, is a projection.

Proof. Necessity. Let $Q_1, Q_2 \in I(H), Q_1Q_2 = Q_2Q_1, Q_1 + Q_2 \in I(H)$. We have $(Q_1 + Q_2)^3 = -(Q_1 + Q_2)$; hence

(a)
$$Q_1 Q_2^2 + Q_1^2 Q_2 = 0.$$

Multiplying both sides of equation (a) by Q_2 , we obtain

$$Q_1^2 Q_2^2 = Q_1 Q_2$$
.

Thus

$$(Q_1^1Q_2)^2 = Q_1^2Q_2^2 = Q_1Q_2, \quad (Q_1Q_2)^* = Q_2Q_1 = Q_1Q_2,$$

i.e. Q_1Q_2 is a projection.



Sufficiency. By using our assumptions and a definition of the class I(H), it is easy to see that

$$(Q_1+Q_2)^3=-(Q_1+Q_2).$$

As a simple conclusion of Theorem 2.2 we get

THEOREM 3.2. Let $Q_1, Q_2 \in I(H)$ and $Q_1Q_2 = Q_2Q_1$; then $Q_2 - Q_1 \in I(H)$ if and only if $Q_1^2Q_2 = Q_1Q_2^2$.

COROLLARY 1.2. If $Q_1, Q_2 \in I(H)$ and $Q_1Q_2 = Q_1^2$, then $Q_2 - Q_1 \in I(H)$ The proof results from Theorem 3.2.

DEFINITION 1.2. An operation $Q_1 \in I(H)$ is said to precede an operation $Q_2 \in I(H)$ when $Q_1Q_2 = Q_1^2$, and we shall write

$$Q_1 \leqslant Q_2 \stackrel{ ext{def}}{\equiv} Q_1 Q_2 = Q_1^2.$$

THEOREM 4.2. The class I(H) with the relation \leq is a partly ordered set. Proof. It is easy to see that $Q \leq Q$ for each $Q \in I(H)$, and $Q_1 \leq Q_2$ and $Q_2 \leqslant Q_3$ implies $Q_1 \leqslant Q_3$.

We shall show that $Q_1 \leqslant Q_2$ and $Q_2 \leqslant Q_1$ implies $Q_1 = Q_2$. $\text{If } Q_1 \leqslant Q_2 \text{ and } Q_2 \leqslant Q_1, \text{ then } Q_1^2 = Q_2^2 \text{ and } (\hat{Q}_2 - Q_1)^2 = \hat{Q}_1^2 - \hat{Q}_2^2 = 0.$ and so we have

$$0 = ((Q_2^2 - Q_1^2)x, x) = ((Q_2 - Q_1)^2 x, x)$$

= $[(Q_2 - Q_1)x, -(Q_2 - Q_1)x] = -\|(Q_2 - Q_1)x\|^2$

for each $x \in H$, which means that $Q_2x = Q_1x$.

THEOREM 5.2. I(H) is a closed subset of L(H) in the sense of strong convergency, i.e. if $Q_n x \rightarrow Qx$ for each $x \in H$ and $Q_n \in I(H)$, then $Q \in I(H)$.

Proof. In fact, for any sequence $\{Q_n\}$ of operations such that $Q_n \in I(H)$ and $Q_n x \rightarrow Qx$ we have

$$||Q^3x + Qx|| \leq ||Q^3x - Q_n^2Qx|| + ||Q_n^2Qx - Q_n^3x|| + ||Q_n^3x + Qx|| \to 0 \quad \text{if} \quad n \to \infty.$$

Evidently, $Q^* = -Q$.

LEMMA 1.2. For $Q_1, Q_2 \in I(H)$ and $Q_1 \leqslant Q_2$ we have $\|Q_1 x\| \leqslant \|Q_2 x\|$ for each $x \in H$.

Proof. From Theorem 1.2 we have

$$||Q_1x|| = ||Q_1^2x|| = ||Q_1Q_2x|| \leqslant ||Q_1|| \, ||Q_2x|| = ||Q_2x||.$$

Theorem 6.2. If $Q_1 \leqslant Q_2 \leqslant \ldots \leqslant Q_n \leqslant \ldots$ and $Q_n \in I(H)$ for n = 1, $2, \ldots, then there exists \lim_{n \to \infty} Q_n x = Qx \text{ for each } x \in H \text{ and } Q \in I(H).$

Moreover, if $\{Q_n\}$ is an arbitrary sequence of operations from I(H), where $\lim_{n\to\infty}Q_nx=Qx$ exists for any $x\in H$ and $Q_n\leqslant Q'$ for all n, then $Q\leqslant Q'$.

Proof. Let $x \in H$; from Lemma 1.2 and Theorem 1.2 (iii) we have

$$||Q_n x|| \leqslant ||Q_{n+1} x|| \leqslant ||x||,$$

and so a sequence $\{\|Q_nx\|^2\}$ is convergent for an arbitrary $x \in H$. Hence we obtain

$$||Q_{n+k}x-Q_nx||^2 = ||Q_{n+k}x||^2 - ||Q_nx||^2 \to 0$$
 if $n, k \to \infty$.

Then we have

$$\lim_{n\to\infty}Q_nx=Qx\quad\text{and}\quad Q\in I(H).$$

Likewise, from the Lemma 1.2 if $Q_n \leq Q'$, then

$$\lim_{n\to\infty}Q_n\leqslant Q'.$$

3. Antisymmetric spectral family.

DEFINITION 1.3. Let us establish an abstract function $R \ni \lambda \to Q_{\lambda} \in I(H)$ (where R denotes the set of all real numbers) satisfying the following conditions:

- (i) If $\lambda_1 \leqslant \lambda_2$ then $Q_{\lambda_1} \leqslant Q_{\lambda_2}$;
- (ii) for each $x \in H$ and $\lambda \in R$ we have

$$\lim_{0 < \epsilon o 0} Q_{\lambda - \epsilon} x = Q_{\lambda - 0} x \quad \text{and} \quad Q_{\lambda - 0} \leqslant Q_{\lambda}$$

The function thus defined we shall call the antisymmetric spectral family.

Theorem 1.3. If $\{Q_{\lambda}\}_{\lambda \in \mathbf{R}}$ is an antisymmetric spectral family, then we have

$$\lim_{\lambda \to -\infty} Q_{\lambda} x = Q_{-\infty} x \quad ext{ and } \quad \lim_{\lambda \to +\infty} Q_{\lambda} x = Q_{+\infty} x.$$

Proof. It is clear that a function $\varphi_x(\lambda) = ||Q_{\lambda}x||^2$ is non-decreasing and bounded, and so we have

 $\lim_{\lambda \to +\infty} \|Q_{\lambda}x\|^2$ for an arbitrary $x \in H$.

Hence we have

$$||Q_{\lambda_2}x-Q_{\lambda_1}x||^2=||Q_{\lambda_2}x||^2-||Q_{\lambda_1}x||^2\to 0 \quad \text{if} \quad \lambda_1,\,\lambda_2\to\infty$$

for an arbitrary $\lambda_1 < \lambda_2$.

Similarly, for $\lambda \to -\infty$.

4. Antisymmetric spectral integral. Let $\{Q_{\lambda}\}_{\lambda \in \mathbb{R}}$ be an antisymmetric spectral family and let $\{f(\lambda)\}_{\lambda \in \langle \alpha,\beta \rangle}$ be a real continuous function defined on an interval $\langle \alpha,\beta \rangle$.

Let π : $a = \lambda_0 < \lambda_1 < ... < \lambda_n = \beta$ be a division of the $\langle a, \beta \rangle$; denote by $s(\pi)x$ the sum

$$s(\pi)x = \sum_{i=1}^n f(\lambda_{i_1})(Q_{\lambda_i} - Q_{\lambda_{i-1}})x$$

for arbitrary $x \in H$ and write

$$\Delta(\pi) = \max\{|\lambda_{i} - \lambda_{i-1}| : i = 1, 2, ..., n\}.$$

THEOREM 1.4. For an arbitrary antisymmetric spectral family $\{Q_{\lambda}\}_{\lambda \in \mathbf{R}}$ and for an arbitrary real continuous function $\{f(\lambda)\}_{\lambda \in \mathbf{R}}$ and for an arbitrary $x \in H$ there exists an integral

$$\int\limits_{a}^{\beta}f(\lambda)\,dQ_{\lambda}x$$

understood as the bound of a sequence of sums $s(\pi_n)x$, where $\{\pi_n\}$ is a sequence of divisions such that $\Delta(\pi_n) \rightarrow 0$ and denotes a bounded and antisymmetric linear operation.

Outline of the proof. From Theorem 4.4. V [1], to show the existence of $\int_{a}^{\beta} f(\lambda) dQ_{\lambda}x$ it is sufficient to prove that a variation of a function $x_{\lambda} \stackrel{\text{def}}{=} Q_{\lambda}x$ is bounded.

In fact,

$$\operatorname{var}_a^{\beta}(x_{\lambda}) = \sup \left\{ \left\| \sum_{i=1}^n \varepsilon_i(Q_{\lambda_i} - Q_{\lambda_{i-1}}) x \right\| : \ \pi \colon \ a = \lambda_0 < \lambda_1 < \ldots < \lambda_n = \beta \right\},$$
 where $|\varepsilon_i| = 1$,

$$\begin{split} \Big\| \sum_{i=1}^n \varepsilon_i (Q_{\lambda_i} - Q_{\lambda_{i-1}}) x \, \Big\|^2 &= \sum_{i=1}^n \| (Q_{\lambda_i} - Q_{\lambda_{i-1}}) x \|^2 \\ &= \Big\| \sum_{i=1}^n (Q_{\lambda_i} - Q_{\lambda_{i-1}}) x \, \Big\|^2 = \| (Q_{\beta} - Q_a) x \|^2 \leqslant \| x \|^2 \,, \end{split}$$

where the last estimation follows from Theorem 1.2 (iii). Hence

$$\operatorname{var}_a^\beta(x_\lambda) \leqslant \|x\|$$

and $\int_{a}^{\beta} f(\lambda) dQ_{\lambda} x$ is an antisymmetric linear operation as a bound of a sequence of antisymmetric operations.

Let

$$Ax = \int_{\alpha}^{\beta} f(\lambda) dQ_{\lambda}x;$$

then

$$\begin{split} \|Ax\|^2 &= \|\lim_{\varDelta(n)\to 0} \sum_{i=1}^n f(\lambda_{i-1}) (Q_{\lambda_i} - Q_{\lambda_{i-1}}) x\|^2 \\ &= \lim_{t \to 0} \sum_{i=1}^n f^2(\lambda_{i_1}) \|(Q_{\lambda_i} - Q_{\lambda_{i-1}}) x\|^2 \leqslant M^2 \|x\|^2, \end{split}$$

where $M = \max\{|f(\lambda)|: \lambda \in \langle \alpha, \beta \rangle\}$ so A is a bounded operation.

Now we shall see that for an arbitrary bounded antisymmetric and linear operation there exists an antisymmetric spectral family.

5. Representation of antisymmetric operations. We shall prove the following

THEOREM 1.5. For each antisymmetric bounded operation A there exist two bounded operations V, B such that

- (i) $V \in I(H)$,
- (ii) $B = B^*$,
- (iii) A = VB = BV, AB = BA.

Proof. Let us consider two cases: there exists an A^{-1} .

From Theorem 2.3 IV [2] for $-A^2$ there exists a symmetric and nondecreasing operation B such that $-A^2 = B^2$ and there also exists a B^{-1} . If B^{-1} is bounded, then we put

$$V \stackrel{\text{def}}{=} AB^{-1}$$

It is obvious that A = VB and that $V \in I(H)$ (since $V^2 = -I$). If B^{-1} is not bounded, we see that

$$\overline{R(B)} = \overline{\{Bx \colon x \in H\}} = H;$$

this follows directly from a decomposition $H = N(A) \oplus \overline{R(A^*)}$, where $N(A) = \{x \in H : Ax = 0\}.$

We put

$$V'x = AB^{-1}x$$
 for $x \in R(B)$

 (B^{-1}) is defined on a dense domain). We have

$$||V'x||^2 = (V'x, V'x) = (AB^{-1}x, AB^{-1}x) = ||x||^2,$$

and so V' is an isometry.

Let us extend by continuity the operation V' on the space H and let us denote it by V. Evidently, $V \in I(H)$ and A = VB.



· Now we shall prove that V' is an antisymmetric operation. Let x, y $\in R(B)$; then we have

$$\begin{aligned} (V'x,y) + &(x,V'y) = (AB^{-1}x,y) + (x,AB^{-1}y) \\ &= (AB^{-1}Bu,y) + (Bu,AB^{-1}y) = (Au,y) + (Bu,AB^{-1}y) \\ &= (Au,y) + (u,Ay) = (u,-Ay) + (u,Ay) = 0, \end{aligned}$$

where x = Bu. Since V' is an antisymmetric operation, it is also true for V. It is easy to see that $V \in I(H)$, because $V^2 = -I$.

It remains to show that A = VB. Let $x \in H$, $x_n \to x$ and $x_n \in R(B)$. Then we have

$$\|Ax-VBx\|\leqslant \|Ax-Ax_n\|+\|Ax_n-VBx_n\|+\|VBx_n-VBx\|\to 0$$

if $n \to \infty$.

Proof of Theorem 1.5. In view of Lemma 1.5 it is enough to consider the case where A is singular. Since $A = -A^*$, we have H $=N(A)\oplus \overline{R(A)}$. Obviously, $A(\overline{R(A)})\subset \overline{R(A)}$; let us put

$$Cx = Ax$$
 for $x \in \overline{R(A)}$.

We note that the operation C satisfies the assumptions of Lemma 1.5. There exist V', B' such that Cx = V'B'x for $x \in \overline{R(A)}$ and $V' \in I(\overline{R(A)})$. We put

$$Vx = V'x_2 \quad \text{ where } \quad x = x_1 + x_2, \ x_1 \in N(A), \ x_2 \in \overline{R(A)}$$
 and

$$Bx = B'x_2$$
.

It is easy to see that $V \in I(H)$, $B = B^*$ and A = VB.

6. Existence of an antisymmetric spectral family. Now we shall prove THEOREM 1.6. For each antisymmetric linear and bounded operation A there exists an antisymmetric spectral family $\{Q_{\lambda}\}_{\lambda \in \mathbf{R}}$ such that

$$Ax = \int\limits_{lpha}^{eta} \lambda dQ_{\lambda}x$$
 .

Proof. By Theorem 1.5, for an arbitrary operation A satisfying the assumptions of Theorem 1.6 there exist operations V and B such that A = VB

By Theorem 9.4 [1], for an operation B we have a representation

$$B=\int\limits_{a}^{eta}\lambda dE_{\lambda},$$

where E_{λ} is a spectral family of B. Putting

$$Q_{\lambda} \stackrel{\text{def}}{=} V E_{\lambda},$$

we see that

$$A = \int^{\beta} \lambda dQ_{\lambda}.$$

7. Equation $\frac{d}{dt}x(t) = Ax(t)$. One of the applications of an antisymmetric spectral family is the equation (1'):

$$\frac{d}{dt}x(t) = Ax(t),$$

with the initial condition

$$x(0) = x_0 \in H,$$

where the operation A is antisymmetric and bounded.

As demonstrated in [3], for an arbitrary and bounded linear operation A there exists a semigroup

$$I_t x = \exp(tA)x$$

such that $x(t) = I_t x_0$ for any $x_0 \in H$ and x(t) satisfies the equation (1') with the initial condition $x(0) = x_0$.

We know that if A is an antisymmetric operation, then I_t is an isometry for any t.

Preserving the notations of Section 6, we shall prove

THEOREM 1.7. If A is an antisymmetric and bounded linear operation, then an analytic semigroup I_t for which the operation A is an infinitesimal generator is expressed by the formula

$$(2') \hspace{1cm} I_t x = \left[I + V^2 - V^2 \int\limits_a^\beta \cos \lambda t \, dE_\lambda + V \int\limits_a^\beta \sin \lambda t \, dE_\lambda \right] x.$$

It determines the solution $x(t)=I_tx_0$ of equation (1) satisfying the initial condition $x(0)=x_0\in H,$ where A=VB and $B=\int\limits_0^\beta\lambda dE_\lambda.$

Proof. We shall prove that the solution of equation (1') is given by the integral

$$(3') I_t x = \int_{-\beta}^{\beta} \exp(t\lambda V) dE_{\lambda} x_0$$

which is the limit of sums

(4')
$$S_{t}(\pi)x = \sum_{i=1}^{n} \exp(t\lambda_{i-1}V)(E_{\lambda_{i}} - E_{\lambda_{i-1}})x$$

of divisions π : $\alpha = \lambda_0 < \lambda_1 < \dots < \lambda_n = \beta$ of the interval $\langle \alpha, \beta \rangle$, where $\Delta(\pi) \rightarrow 0$ with respect to a norm.

Let us note that

$$\begin{split} \exp(t\lambda V) &= \sum_{n=0}^{\infty} \frac{1}{n!} (t\lambda V)^n \\ &= I + t\lambda V + \frac{1}{2!} t^2 \lambda^2 V^2 - \frac{1}{3!} t^3 \lambda^3 V - \frac{1}{4!} t^4 \lambda^4 V^2 + \dots \\ &= I - \left(-1 + 1 - \frac{1}{2!} \lambda^2 t^2 + \frac{1}{4!} \lambda^4 t^4 - \dots \right) V^2 + \left(\lambda t - \frac{1}{3!} \lambda^3 t^3 + \dots \right) V \\ &= I - \left(-1 + \cos \lambda t \right) V^2 + (\sin \lambda t) V. \end{split}$$

Hence we obtain

(5')
$$\exp(t\lambda V) = I + V^2 - \cos \lambda t V^2 + \sin \lambda t V$$

Putting (5') into (4'), we get

(6')
$$\begin{split} S_t(\pi) x &= x + V^2 x - V^2 \sum_{i=1}^n \left(\cos \lambda_{i-1} t \right) (E_{\lambda_i} - E_{\lambda_{i-1}}) x + \\ &+ V \sum_{i=1}^n \left(\sin \lambda_{i-1} t \right) (E_{\lambda_i} - E_{\lambda_{i-1}}) x. \end{split}$$

Operations

$$\begin{array}{ll} B_{t}(\pi)x \, = \, \sum_{i=1}^{n} \, (\cos \lambda_{i-1}t) (E_{\lambda_{i}} - E_{\lambda_{i-1}})x, \\ \\ C_{t}(\pi)x \, = \, \sum_{i=1}^{n} \, (\sin \lambda_{i-1}t) (E_{\lambda_{i}} - E_{\lambda_{i-1}})x. \end{array}$$

are partial sums of integrals

(8')
$$B_t x = \int_a^\beta \sin \lambda t \, dE_{\lambda} x, \quad C_t x = \int_a^\beta \cos \lambda t \, dE_{\lambda} x;$$

their existence follows from 9.7 IX of [1].

From (6') we obtain

(9')
$$\lim_{\Delta(\pi)\to 0} S_t(\pi) x = x + V^2 x - V^2 \int_a^\beta \cos \lambda t \, dE_\lambda x + V \int_a^\beta \sin \lambda t \, dE_\lambda x;$$

thus integral (3') exists and

$$(10') I_t x = \int_{-\pi}^{\beta} \exp(t\lambda V) dE_{\lambda} x = \left[I + V^2 - V^2 \int_{-\pi}^{\beta} \cos \lambda t \, dE_{\lambda} + V \int_{-\pi}^{\beta} \sin \lambda t \, dE_{\lambda} \right] x.$$



Moreover, the operation I_t is an isometry for any t; it is easy to see that $||S_t(\pi)\pi||^2 = ||\pi||^2$. Equation (10') with respect to Theorem 9.7 IX [1] takes the form

S. Góźdź

(11')
$$I_t x = [I + V^2 - V^2 \cos tB + V \sin tB] x,$$

where A = VB.

If H is a finitely-dimensional space with even dimension, then (11') takes the form

$$(12') I_t x = \cos t B x + V \sin t B x.$$

Now, we shall see that the function $x(t) = I_t x_0$ is the solution of equation (1').

Let us consider a differential quotient

$$\frac{1}{\varepsilon}\left[x(t+\varepsilon)-x(t)\right] = \frac{1}{\varepsilon}\left[I_{t+\varepsilon}x_0 - I_tx_0\right] = I_t\frac{1}{\varepsilon}\left[I_{\varepsilon}x_0 - x_0\right].$$

It is enough to show that

$$\lim_{s\to 0}\frac{1}{\varepsilon}\left[I_sx_0-x_0\right]=Ax_0\quad \text{ for any } x_0\in H.$$

From (10) we have

$$(13') \ \frac{1}{\varepsilon} \left[I_{\varepsilon} x_0 - x_0 \right] = V^2 \int_{\sigma}^{\beta} \frac{1}{\varepsilon} \left[1 - \cos \lambda t \right] dE_{\lambda} x_0 + V \int_{\sigma}^{\beta} \frac{1}{\varepsilon} \sin \lambda \varepsilon \ dE_{\lambda} x_0$$

and at the same time uniform convergence of functions takes place:

$$\varphi_{\varepsilon}(\lambda) = \frac{1}{\varepsilon} \left[1 - \cos \lambda t \right] \rightrightarrows 0 \quad \text{ and } \quad \psi_{\varepsilon}(\lambda) = \frac{1}{\varepsilon} \sin \lambda \varepsilon \rightrightarrows \lambda.$$

From 9.2 IX [1] and (13') we obtain

$$\lim_{\varepsilon\to 0}\frac{1}{\varepsilon}\left[I_{\varepsilon}x_{0}-x_{0}\right]=V^{2}\int_{a}^{\beta}0\ dE_{\lambda}x_{0}+V\int_{a}^{\beta}\lambda dE_{\lambda}x_{0},$$

which gives

$$\lim_{\varepsilon \to 0} \frac{1}{\varepsilon} \left[I_{\varepsilon} x_0 - x_0 \right] = A x_0 \quad \text{for any } x_0 \in H.$$

Thus from the theorem about the equivalence of solutions of equation (1'), $x(t) = I_t x_0$ is a solution of equation (1') with the initial condition $x(0) = x_0$.

Let us consider the case where the operation $-A^2$ has a discrete spectrum; then there exist an orthonormal and complete basis $(e_i)_{i=1,2,...}$

of its own vectors and a sequence $\{\lambda_i\}_{i=1,2,...}$ of its eigenvalues such that

$$-A^2x=\sum_{i=1}^{\infty \rceil}\lambda_i(x,\,e_i)\,e_i.$$

We put

$$\lambda_i x \stackrel{\text{def}}{=} (x, e_i) e_i;$$

then formula (10') has the following form:

$$I_i x = \left[I + V^2 - V^2 \sum_{i=1}^\infty \cos t \sqrt{\lambda_i} P_i + V \sum_{i=1}^\infty \sin t \sqrt{\lambda_i} P_i \right] x.$$

These formulas are also true for an inifinetely-dimensional space.

References

- [1] A. Alexiewicz, Analiza funkcjonalna, PWN, Warszawa 1969.
- [2] W. Mlak, Wstep do teorii przestrzeni Hilberta, PWN, Warszawa 1970.
- [3] K. Yosida, Functional analysis, Springer-Verlag, Berlin-Göttingen-Heidelberg 1960.